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1. The median of the observations 46, 64, 1. IR Q2H 997 3R 41 M 43 A Fea o

87, 41, 58, 77, 35, 90, 55, 92, 33 after T R A YA 46, 64, 87, 41, 58, 77,
replacing 92 by 99 and 41 by 43 is 35, 90, 55, 92, 33 F AT 3

MATHEMATICS i

A) 55 B) 58 A) 55 B) 58
C) 64 D) 43 C) 64 D) 43
2. If aline 3x — ky = 5 passes through 2. R (3, 2) REMUFE W 3x - ky = 5
(3, 2), then the value of 'k’ is R K Ty
A) 4 B) 3 A) 4 B) 3
C) 2 D) 1 C) 2 D) 1
3. The rationalizing factor of ab‘E is 3. abdg w1 gt urEve §

A) \E B) ‘E
n-1

o

B)Jg

aru-1 D L C a.1"|+1 D
C) o ) = ) o ) =
. Match the following : 4. Srgwt fRafla |
Solids Volume vt et T
1. Cone a. g-nr"‘ 1. ¥iF (FH) a2
3
2. Cylinder b. nreh 2. e (Rt b. nréh
3. Sphere c. gmﬂ 3. T c. 2.
3
4. Hemisphere d. %mzh 4. Mare d. _;_mzh
1 1
e. —nril i)
3‘1‘ e. Snrzf
A)1-d,2-b,3-3,4-6 A)1-d,2-b,3-2a,4-¢
B)1~d,2-b3-a,4-c B)1-d,2-b,3-a,4-c
C)1-e,2-b,3-3a,4-c C)1-e,2-b,3-a,4-c
D) 1-e,2-d,3-3,4-Db D) 1-e,2-d,3-4a,4-b

PageNo.3 B
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5. If m and n are the roots of the quadratic

equation x>+ px+8=0withm-n=2
then the value of 'p' is

A) £8
B) £7
C) =6
D) £5

. If the quadratic equation
4% — (p — 2) x + 1 =0 has equal roots
then the value of ‘p’ are

A) 2or6
B) 2or-6
‘C)-2o0r-6
D) -2o0r6

. The quadrilateral obtained by joining
the points (1, 1), (- 1, 5), (7, 9) and
(9, 5) is

A) Square

B) Rhombus

C) Rectangle

D) Parallelogram

. The linear equation coincide with the
line2x +3y=121is

A) 2x+3y =15

B) 7x + 14y =13
C) 8x+ 12y =48
D) 8x+10y=18

5. 3R m I n feemas g

X2+ pX+8=0FhqERAMM-n=2
TR P FIETE

A) +£8

B) £7

C) £6

D) 5

. 3R fgama adisu 42 - (p—2) X+ 1 =0

F e IF E, @ 'p' T §
A) 2716

B) 291-6

C)-2a1-6

D) -246

- (11 1)! (_ 1, 5): (7: 9) 3‘-“’{(9, 5)ﬁ53ﬂ

T e W Ty oa1 §, 98
A) =i

B) TH =gy

C) @

D) SaMI I

. (e gl it 2% + 3y = 12 F WY /A

@I, 58 §

A) 2x+3y=15

B) 7x+ 14y =13
C) Bx+ 12y =48
D) 8x+ 10y =18
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-4 -4
9. Iftan 8 = —=then the value of sin 8 Is 9. 3T tan 6= — 8, Asinowge d
4
25 A) —
A) 15 154
4 B) +~
+ -
B) 3 5
_4 4 -4 4
C) ?but not 5 C) 5 8 e B T
4 -4 4 -4
D) 5.butnnt? D) E%ﬂ{—é—ﬂﬁ
10. If sin (3A-B) =1 and 10. 3 sin (3A - B) = 1 3ikt
cos (2A-B) = _\[3_ then the value of cos (2A-B) = [?_ 2, @ sin A 3ik
2 2
sin A and cos B are cos BF T 8
A V3.0 A) V3,0
2 2
B) = i}
) 3.0 B) 3,0
C) V3,1 C) v, 4
2 2
1 1
D) 3.1 D) 3.1
o o (o))
11. The simplest form o : ; : % X v X
1 1 .
[ es) (02 (xt+5) (-1 AL
A) 1 5,1 1
a.--—
B) x,_la B) x ™
X
1 8 _?_
C) X“+? C] X +xﬂ
1 1
D) xfﬂ_F D) x‘!ﬁ_x_m_




12.

13.

14.

15.

The mean of 15 observations is 23. If
each observation is multiplied by 2, then

new mean is
A) 23
B) 46
C) 25
D) 36

There are 13 girls and 15 boys in a line.
If one student is chosen at random, then
the probability that he is not a boy is

1
A):E

g 3
28

2l
18
3]
13

C)

D)

Which one of the following are not the
sides of a triangle ?

A) 2cm,3cm, 5cm

B) 5cm,4cm, 8cm

C) 8cm,3cm, 9cm

D) 9cm,4cm, 11 cm

1, 8, 6, 10, ..... are triangular numbers.

The smallest triangular number that
exactly divisible by 9 is

A) 18 B) 27
C) 36 D) 45

12,

13.

14,

15.

15 aTaeiEt 1 alea 23 §1 R TS
TR i 2 A on R s T e
B

A) 23
B) 46
C) 25
D) 36

wF ufd ¥ 13 wefat ok 15 wes B
3 I | Tt v o g e Al
3Igeh TEH A B ANET R

A

15

13

28

L]

18

il

13

A)
B)
C)

D)

it & A R B H o T 7

A) 2cm, 3cm, 5cm
B) 5¢cm, 4 cm, 8 cm
C) 8cm, 3cm, 9cm

D) 9cm,4cm, 11 cm

1, 3, 8, 10, ..... B TEaTd €| =R
mﬂaﬁmmwﬁgﬁt@hﬁmﬁ
qE’
A) 18 B) 27
C) 36 D) 45
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16. Ifa, b, c are in AP and

17.

18.

19.

a+b __ b+c
e X, —5 ~ Y then the value of

(x+y)is
A) 2a

B) 2b

C) 2(a +b)
D) 2(b +c¢)

Four coins are tossed. The chance of
getting none of the face as head is

A)

a0
S

C)

D)

w -

If (n? — 1) is divisible by 8 then 'n' is
A) a natural number

B) an integer

C) an even integer

D) an odd integer

A cube of side 4 cm cut into small
cubes of each side 1 cm. The ratio of
the surface area of all smaller cubes to
that of large one is

A)1:2
B) 1:4
C) 4:1
D) 2:1

Page No. 7

16. 3R a, b, c AP H & afx

17

18.

19.

a;b=& b;c =Y A (x+y)
Lok d |

A) 2a

B) 2b

C) 2(a +b)

D) 2(b +¢)

IR Rt At S8 S o1 Rl 8 oft R
7 3 ) TWET R

2 o 5>
—
>

>
Sl |- O]

HREA (M-1)y=agdn't
A) WThfe SEa

B) qurie

C) Ui a9 (W qurt)

D) forem quris

TF 4 cm 91 3 99 0 YA 1 om 5
FEIH FRITET S | A SR T AR
U7 % |8 SAhe § A ®

A) 1:2
B) 1:4
C) 4:1
D) 2:1
1 PECE
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20.

21

22.

23.

A 20 m deep well with diameter 7 m
Is dug and the earth from digging is
spread evenly to form a platform of
22 m x 14 m. The height of the
platform so formed is

A) 25m
B) 3.6m
C)5m
D) 7m

If one root of the equation

¥+ax+b=0is % times the other.
Then the correct relation between
aandbis

A) 3a?=16b

B) 16a2=3b

C) 3a=16b?

D) 16a = 3b?

The area of a triangle formed by the
points (a,b +¢), (b,c+a),(c,a+Db)is
A) a+b+c
2
B); 800
2

C) 1
D) O

fy=m+m?+m3+ ... owhen|m|<1,
then the value of 'm’ is

y ) A
A ey Ty

1-y
1=y

© 5

1
D)LV
y

20.

21.

22,

23.

T 7 m =T 3R 20 m T F N gET
AT GERE AP A
22 m x 14 m &1 9= 9> 791 ], 3G 0
FFad R

A) 25m

B) 3.6 m

C)5m

D) 7m

I X2 + ax + b = O THH i TF Id
@%%w%aaaﬂm%

i o1 o e @

A) 3a*=16b

B) 16a2=3b

C) 3a = 16b?

D) 16a = 3b?

(a, b +c), (b, c +a), (¢, a + b) frgadi
T & T B w5 Ak ]

A) a+b+c
2
B) ak¢
2
C) 1

D) 0

ARy=m+m?+m+ .. coFd

Iml <120 'm F A3

[<

A) B)

— ek

=7
=¥

Lt —=
y

YL
1+y
1

y
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24. In the figure, a semicircle with centre O
is drawn on AB = 8 cm. If |ABP = 60°
then the area of AABP is

A

O

B
V3

A) -é—cm
B) 8cm
C) 8v3 cm

D) 43 cm

25. The top of a partially broken tree touches
the ground at a point 10 m from the foot
of it and makes an angle of elevation of
30° from the ground. The height of the

- freeis

10
A) ﬁm
B) 10J3 m
C) .‘/_gm

10
D) J3m

2 woon (3 (8T (3]

simplified we get

125 127
A) 27 B) 125
C) 1 ; D) 0

Page No. 9

24, TFHR A UF ggH F Hgfeg O A
AB = 8 cm W fiffa frn T ® | 3R

|ABP = 60° 2 &l AABP &1 83%d ¢
A

(@]

B
3

A) —E—'CITI
B) 8cm
C) 83 cm

D) 4/3 cm

25. T T il §9 & 31 goT U3 31
R A 10 m &t 0 RS Fan @ AR
Ut ¥ 30° &1 I=IT HI T A VS

1 FaTd &
10

A) 75 m

B) 1043 m

G]ﬁm
10

D) J3m

(27 -{(&T -
%! gore Wed ferar @

125 27
A) 37 B) 125
C) 1 D) 0
1 PECE
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27. The reflection of the point (-3, -2) in 27. (-3, -2) g = Y 31& ¥ yrad e 3
Y axis is
A) (3! -2)
A) (3,-2)
B) (-3, 2) : B) (-3,2)
C) (3,2 C) (3,2)
D) (0,-2) D) (0,-2)
28. A rational number between Sand 2 28, 5 stk 2 ¥ +iw i vimdem }
is 7 11 7 11
59
A) == 59
) & ME—
B) 2 ) 31
7 : 77
c) 23 c) 23
1 11
7 74
D) 9 D) 9
29. If a=2 and b = 3, then the value of 29. IMMa=23b=3A (a°+b°)"
(ﬂh +h')_' is W;ﬂ%
B) 72 B) 72
1 Y
C) 17 C) 17
Bjees O
) 72 ) 72
30. If f(x) = x2—5x + 7, then {(2) - {(-1) = 30. IR f(x) = X2 = 5x + 7 W f(2) - f(~1) =
A) —34 A) -34
B) 34 B) 34
C) 12 C) 12
D) —12 D) -12
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31.

32.

33.

34,

If sin + coseco = 2 then
sin®d + cosec?B =

A) 4
B) 3
C) 2
D) 1

Two vertices of a triangie are (1, 3) and
(4, - 5). If its centroid is (7, 2) then the
third vertex is

A) (186, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

Which one of the following is aiways
true with respect to parallel lines ?

A) sum of their slopes is zero

B) difference of their slopes is zero
C) product of their slopes is zero
D) quotient of their slopes is — 1

2 sin 60°cos 30° cosec 45°
tan 45° cos 60° sin 45°

simplified we get
A) 6

B) 3J2
3

C) ﬁ
3.2

2
Dy ===
) 2

When

Page No. 11

31.

32.

33.

34.

3T sind + cosech = 2 ¥, 4l sin +
cosec?f =

A) 4

B) 3

C) 2

D) 1

s eid (1, 3) f (4, -5) % 137w
IFH FE (7, 2) ), A e i B

A) (16, 8)
B) (8, 12)
C) (12, 8)
D) (8, 16)

UG @13t % ey 3 3 A eE A
TAM TR R 7

A) I TSI %1 et 91T I Vel @
B) 3% TeHI 1 99 Y[ Bl &

C) 3% TaH! %) UG Y4 Bt 8
D) 3% aaHi <t wfed — 1 Bt B

2 sin 60° cos 30° cosec 45°
tan 45° cos 60° sin 45°

oo e frear R

A) 6

B) 32
C) %

1 PECE




%Tha sum of first 20 odd natural
numbers Is
A) 210
B) 250
C) 200
D) 400

36. The sum of the numerator and the
denominator of a fraction is equal
to 7. Four times the numerator is 8 less
than 5 times the denominator. Then the
fraction is

A)
B)
C)

D)

Bl ot |0

37. In the figure, APQR Il APST and
perimeter of APQR : perimeter of APST
= 3: 4, Then the area of APST : area of

APQR =
=T
Q
R
S
A) 16:9 B) 9:16
C) 3:4 D) 4:3

35. WEs 20 Toym s wEmatt &
am R

A) 210
B) 250
C) 200
D) 400

36. WRFF M anmw M AN 7R | 3
FATNHHSTNABAFAR, @
=2

A)
=)
C)

D)

37. ¥ e g8 3pfa | 3K
APQR Il APST 3it APQR i afiftr :
APSTH ittt =3: 4,7 APST =1
HI% : APQR 1 89%d ®

Al Nl = I[N

e T
Q
A
S
A) 16:9 B) 9:16
C)3:4 D) 4:3

S
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38. Every person in a room shake hands

with every other person. The total
number of handshakes is 45. The

number of persons in the room is
A) 5
B) 10
C) 15
D) 20

. If x(x—2) = 1, then the value of x? + -12-

is X
A) 0
B) 2
C) 4
D) 6

. The value of tan 7° tan 23° tan 39°
tan 60° tan 51° tan 67° tan 83° is
A) O

B) 1

C) V3
1

D)ﬁ

. An arc subtends an angle 60° at the
centre of a circle of radius 6 cm then
length of minor and major arcs are

A) 2nand 10 =
B) 10rand2 =
C)8randdn
D)4rnand6n

38. U HH %I YT Al qa sAfw & §1d

Tiremran 1 w19 fiem it 3o T 45 R
& 3| TR F nil A e R

A) 5
B) 10
C) 15
D) 20
:

LM X(X—2) =18 x24I

X

Tl B
A) 0
B) 2
C) 4
D) 6

. tan 7° tan 23° tan 39° tan 60° tan 51°

tan 67° tan 83° %1 9 &
A) 0

B) 1

C) V3

1
0)75

. T 6 om Be F Tu F FE A T =W 60°

o7 i T & @ 7Y 9 R gEg I
i e @

A) 2310~

B) 103 2n

C) 8n3lR4n

D) 4n36n
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42. Ifp+q=6andpq=8thenp®+q®=

A) 216
B) 144
C) 72
D) 36

. In the figure, if AB || CD, CD || EF and
X:y=3:2thenz =

2 / o
r/“x
Z
Ce > D
E< /44 > F

A) 36°
B) 72°
C) 144°
D) 108°

. In two concentric circles of radii 15 cm
and 9 cm, the length of a biggest chord
of the larger circle which is a tangent to
the smaller circle is

A) 24 cm

B) 20 cm

C) 12cm

D) 10 cm

42, IMp+q=63Mpq=8%,Ap°+’=

A) 218
B) 144
C) 72
D) 36

43. 39 3THid § R AB || CD, CD || EF 3ik

x:1y=38:2%,dz=

A< / > B
/>
P 4
Ce > D
E“ /4 > F

A) 36°
B) 72°
C) 144°
D) 108°

. B Gehfesa g9 i B 15 cm 3t 9 cm

2 A 93 gu A TEd 5 S Y R e
g9 i Tei 1@ B, 35 Tan 2

A) 24 cm

B) 20cm

C) 12cm

D) 10cm
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45. In the figure, A ABC and A CDE are
right angled triangles. If AC = 24 cm,

CE =7 em and |ACB =|CED then
AE is

C
pH E
| [l
A B
A) 30 cm
B) 25cm
C)+22 cm
D) 15cm

46. The sum of two numbers is 161. If one
of the numbers is 30% more than the

other then the numbers are
A) 71 and 90

B) 70 and 91

C) 54 and 107

D) 60 and 101

47. The common factor of (p? + 9p + 14)

and (p>+ 13p + 42) is
A p+2
B)p+6
C)p+3
D)p+7

Page No. 15

45. AFA 7 A ABC 3t A CDE sw=iwy
A8 | 37T X AC =24 cm, CE =7 cm
afit |ACB=|CED ¢, s AE &

C
pH =
r
A =
A) 30 cm
B) 25 cm
C) 22 cm
D) 15cm

46. JTE H A 161 B 4fe I T A
H T T H 30% 1 & o 98 weand &
A) 71 3R 90
B) 70 i 91
C) 54 3R 107
D) 60 27k 101

47. (p? + 9p + 14) 3 (p2 + 13p + 42)
HHA UHES 8
A)p+2
B) p+6
C) p+3

D)p+7
1 PECE
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48.

49,

50.

Pramod and Praveen are the sons of
Prajwal. The present age of Prajwal is
4 times the age of Pramod and 6 times
the age of Praveen. If the sum of their
ages is equal to 51 years then the
present ages of sons are

A) 9 years and 6 years
B) 8 years and 9 years
C) 9 years and 4 years

D) 5 years and 9 years

In a circle inscribed in AMNO having
MN =12 cm, MO = 14 cm and

NO = 18 cm touching sides at P, Q
and R, then MP + NQ + RO is

A) 18 cm
B) 20 cm
C) 22¢cm

D) 44 cm

The angle between the hands of a clock
when the time is 4 O’ clock is

A) 60°
B) 90°
C) 150°

D) 120°

Page No. 16

48, T R yiv ST F AR & | T

49,

50.

1 I g TR N Y/ 4 T
3fr elior <t 27 B 6 TAT § | AT I
31T =1 A 51 T9 & TR B, 9 A
FAUM Y R

A) 9 91 3R 6 U1

B) 8 4w 31k 9 O™

C) 9 4t 3iR 4 ¥

D) 5§t 3R 9 T

AMNO 7 T g4 &I 3ifera fomn man R,
f/ed MN = 12 cm, MO = 14 cm 3fR
NO =18 cm®, R y=aA & P, Q, R
WY Fa g, @ MP + NQ+ RO ®

A) 18 cm
B) 20 cm
C) 22cm
D)} 44 cm

4 §1 UL & Fic & A" F A
GIES

A) 60°
B) 90°
C) 150°
D) 120°
1 PECE
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51.

52.

53.

55,

CHEMISTRY
When lead nitrate is heated emission
of ocours.
A) N,O,
B) NO,
C) NO
D) N,

Na,SO, + BaCl, —— BaSO, +
2NaCl is an example for
reaction.

A) Displacement

B) Double displacement
C) Thermal decomposition
D) Redox

Chips manufacturers usually fiush
bags of chips with gas
to prevent the chips from getting
oxidised.

A) Oxygen

B) Nitrogen

C) Hydrogen

D) Carbon dioxide

On passing excess of carbon dloxide
through lime water Is
obtained.

A) CaCo,

B) Ca(OH),
C) CaH,

D) Ca(HCO,),

solution does not
conduct electricity.

A) Sodium hydroxide

B) Calcium hydroxide

C) Glucose

D} Hydrochloric acid

Page No. 17

T Ry

51. W& 8 TR B TR ST § Aw
&1 IeANA g AT g |

A) N,0,
B) NO,
C) NO
D) N,

52. Na,SO, + BaCl, —— BaSO, +
2NaCl 78 wiafsar &
e o TR 2 )

A) fereems

B) &g =
C) g I
D) =

53, freg fmfen st w o =) s1ffRgems
R A U % o o & e
REsFdmRI s e

54, A & i & wregm § il
HETEHATHE TFET T
T B § |
A) CaCo,

B) Ca(OH),
C) CaH,
D) Ca(HCO,),

55. 1 et fererelt =1 gees
T HET R |

A) TifETy tEids

B) ¥ deiads

C) =&

D) ¥l e
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56. Manganese react with very dilute

HNQ, to evolve gas.

A) H,
B) N,
C) O,
D) NO,

57. The order of reactivity is
A) Al>Mg>Fe>2Zn
B) Mg > Al>2Zn > Fe
C) Al>Mg>2Zn>Fe
D) Mg > Al > Fe > Zn

58. Cinnabar is
A) HgO
B) CuO
C) HgS
D) Cu,S

59. Sulphide ores are converted in to
oxides by

A) Combination
B) Reduction
C) Calcination
D) Roasting

60. Fe, O, .+ 2Alm-+2Fam + ALLO,, . + Heat.

2 3s)
This reaction is called

A) Calcination

B) Thermit reaction
C) Thermal reaction
D) Displacement

2™ 3(s)

61. Modern periodic table has

periods.
A) 18
B) 8
C)7
D) 17

D Page No. 18

56. Wgd Yael HNO, % H1e HHIs & ywid |

57.

58.

59.

61.

o farfimame |
A) H,
B) N,
C) O,
D) NO,
Tiafsral &1 9 A

A) Al>Mg>Fe>2n
B) Mg > Al>2Zn > Fe
C) Al>Mg>2Zn > Fe

D) Mg > Al>Fe >2Zn

= A

A) HgO
B) CuO
C) HgS

D) Cu,S

UoHI5S ITEH F) g
3Ty o yRafda e sman 2
A) TS

B) =Hl

C) YMI

D) ¥
Fe, O, + 2Al, - 2Fe, + ALO,  + Heat.
4 vt & e § |

A) T
B) wmise ufafsran
C) uda wiefsman
D) T

yf anrad anoft § Jafemai g
A) 18
B) 8
C)'7
D) 17
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62.

63.

64.

65.

66.

Metalloids is
A) Silicon

B) Carbon

C) Magnesium
D) Iron

M shell of chlorine contains
electrons.

A) 7
B) 6
C) 4
D) 5

Metal oxide + Acid — X + water, X is
A) Metal

B) Acid

C) Base

D) Salt

Hydronium ion is
A) H*
B) H,O*
C) OH,®
e}
D) OH
gas is liberated when
zinc is treated with H,SO,.
A) O,
B) SO,

C) H,
D) SO,
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62.

63.

65.

66.

AAIEEH (g F9) T A
A) Tfernia

B) e+

C) Sty

D) s

FAINA & T O &
B |

A) 7

B) 6

C) 4

D) 5

TR

. gTg ATFATEE + AT — X + T,

X 1

A) Hig
B) a1
C) 3w
D) &

R s 2
A) H*

B) H,0*

C) OH,®

©
D) OH

4 e Bl & 919 H,SO,
% a1y fSier 1 =R s B )

A) O,

B) SO,

C) H,

D) SO,
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67.

68.

69.

70.

£Y.

Quick lime Is
A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

Slaked lime reacts slowly with CO, in
air to form a thin layer of

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCO,

During respiration
combines with oxygen in the cells and
produces CO, and water.

A) Sucrose

B) Fructose
C) Glucose
D) Galactose

Colour of ferrous sulphate crystals
A) Orange

B) Green

C) Blue

D) Yellow

Plaster Of Paris (POP) is
A) CaS0O,.2H.,0

B) CaSO,.H,0

C) CaS0,.%2H,0

D) CaSO,.%4H,0
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67. i < 2

8.

69.

A) CaO

B) CaCl,

C) Ca(OH),
D) Ca(HCO,),

@ gaTl I |t ¥R g1/ CO, % v
_ ) vaeh wa 9 & R
siftfRan Fa 2 |

A) Ca(HCO,),

B) CaO

C) Ca(OH),

D) CaCo,

A F QU PR
Hifrem & @ et CO, 3R I =i
IS AT E |

A) gH1a
B) FHH

C) w&iE
D) TeiEerd

70. SEHE T THieEH 1 T B

F il ke

A) TG
B) &0
C) e
D) diem

THIRR 31T U (POP) ® |
A) CaS0,.2H,0

B) CaSO,.H,0

C) CaSO,.%.H,0

D) CaSO,.%H,0

1 PECE
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72.

73.

74,

75.

76.

The ability of metals to be drawn in to
thin wires is called

A) Malleability
B) Ductility

C) Conductivity
D) Sonorous

is most malleable metal.

A) Au
B) Al
C) Fe
D) Zn

is non-metal but it is

lustrous.
A) Carbon
B) Chlorine
C) Bromine
D) lodine

does not react with cold

water.

A) Sodium

B) Calcium
C) Magnesium
D) Potassium

Dehydration of ethanol gives
A) ethane

B) ethanoic acid

C) ethene

D) ether
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72.

73.

74.

75.

76.

uTgell i gaeh al #§ EiA A gEa
FEI AR |

A) ITETaEH-ga

B) st

C) Wamgse

D) MR/w=

e AT ag R |

A) Au
B) Al
C) Fe
D) Zn

R u1g R SR SHeRaR R |

A) H1E
B) &A=
C) sA
D) EH

32 1 % wre S e

AR |

A) Gifsad

B) sedrH

C) ARwm

D) deRmw

39T i st <ar 8
A) 389

B) 33igh TS

C) 3

D) 3
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80.

81.

solution of acetic acid in

water is called vinegar.

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

The meiting point of pure ethanoic
acid is

A) 300 K
B) 298 K
C) 310K
D) 290K

Esters react in the presence of acid
or base to give alcohol and carboxylic
acid is called

A) Esterification
B) Saphonification
C) Hydrolysis

D) Rancidity

Properties of elements are periodic
function of their

A) atomic mass
B) atomic number
C) atomic size

D) atomic nature

Recrystallisation of sodium carbonate
produces

A) Baking Soda

B) Washing Soda

C) Bleaching Powder
D) Gypsum
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7 4 i

78.

79,

81.

. Tl o O ST

o o ufifees ufirs
H M I |

A) 5-8%
B) 8-9%
C) 4-6%
D) 6-9%

e R #
A) 300 K
B) 298 K
C) 310K
D) 290 K

TR ITehIRia R Faifaarers g 3
& fore s a1 39 i el # wRifen
#ar € | FEAE |

A) TR

B) dwifAfram

C) ¥y

D) Ffafedh

% Iafies

FEE |

A) TTHTI R
B) WY FHiw
C) T STTHR
D) vy i

Qifsan e 1 [: e santa
EDGIE

A) afFm dier

B) Y %1 WS

C) seiifem diet

D) foram
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82.

83.

84,

86.

85.

is used as plaster for
supporting fractured bones in the right
position.

A) CaSO, 10H,0
B) CaSO,2H,0
C) CaSO,''/,H,0
D) CaSO,

metal exist as liquid at
room temperature.

A) Bromine
B) Mercury
C) Lead
D) Zinc

is an allotrope of carbon
which is hardest in nature.

A) Diamond
B) Graphite
C) Silicon Carbide
D) Fullerene

Amphoteric oxide is
A) CuO

B) Na,0

C) K,0

D) ALO,

pH of blood is
A) 5.6
B) 6.5
C) 74
D) 4.7
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82.

83.

85.

86.

! adl feufa o wfea sfga
& ard F o7 e & v 3w
e ST R |

A) CaSO,"10H,0

B) CaSO,2H,0

C) CaSO,'"/,H,0

D) CaSO,

uTg FR F aH W fafRe
(&) FFIA SRR |
A) T
B) iR ()
C) &
D) = (Sran)

. YR T Hed ST e i UG g

FHATR?

A) sENE

B) Tmhe

C) fafrrm wais

D) Feii
I TS B

A) CuO
B) Na,0
C) K,0

D) Al,0,

TR H pH B
A) 5.6
B) 6.5
C) 7.4
D) 4.7

e e — x — —
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87.

88.

80.

81,

Our stomach produces
acld which helps In the digestion.

A) H,SO,
B) HNO,
C) H,PO,
D) HClI

Stinging hair of nettie leaves Inject
causing burning pain.

A) Ethanolc acid
B) Methanoic acid
C) Propanoic acid
D) Butanoic acid

Baking soda is

A) Sodium carbonate

B) Sodium hydrogen carbonate
C) Sodium hydroxide

D) Sodium chloride

ls used in the manufacture

of borax.

A) Washing soda

B) Baking soda

C) Sodium hydroxide
D) Sodium sulphate

Sliver articles hecome black after
some time when exposed to alr. This
Is because of coating.

A) Silver sulphate
B) Silver oxide

C) Silver sulphide
D) Sitver sulphite
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87.

89.

80.

91,

B 92 TR ) I HEA
B o & R rmr w8 |

A) H,SO,

B) HNO,

C) H,PO,

D) HCI

foreg 991 % &% v Al TR B PR W
Siei % 4 o SO ST 8

A) 39T U

B) fadmige wfire

C) WrHTss uRrs

D) sgeTee Tfirs

affmEEI R |
A) Bfemm wEe

B) wifsaw g wEie
C) difeaw deielie

D) wifdu Felte

s & o & g &l
IR g |

A) arf¥m S

B) s dyan

C) wifemm tgfeds

D) afemm v=e

v & Ty # o % 0 wee A wi &
T2 TR B A S | g R
AUB |

A) T et

B) fie atisls
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92,

93.

94,

5.

96.

Bronze is an alloy of 92, I FE AT ag R |
A) Cu& Zn A) Cu&Zn
B) Cu& Sn B) Cu& Sn
C) Cu&Pb C) Cu&Pb
D) Cu&Ti D) Cu&Ti
is an alloy used for 93. facreht & ol =) Sireq & forg
welding electrical wires. _ s ug e swEm RS}
A) Bronze A) Fie
B) Brass B) fieet
C) Solder C) fiem
D) Steel D) s«
is a major component of 94. CNG &1 §&4 U2 2
A) Mothans < e
B) Ethane B) ¥
C) Propane C) %A
D) Butane D) &g
For the hydrogenation of vegetable 95, gaeafe oel & eeROI R R
oils is used as catalyst. 30 F w9 N I R e |
A) Pt A) Pt
B) Ni B) Ni
C) Pd C) Pd
D) Ag D) Ag
pH of milk of magnesia is 96. AR % 39 =1 pH 2
A) 11 A) 1
B) 10 B) 10
C) 1.5 C) 11.5
D) 10.5 D) 10.5
1 pece
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97.

99.

100.

The atmosphere of Venus is made up
of thick white and yellowish clouds of

A) H,SO,
B) HCI

C) HNO,
D) HSO,

A) Oxalic

B) Citric

C) Tartaric
D) Methanoic

Aqueous solution of sodium chloride
is called

A) Brine

B) Milk of magnesia
C) Washing soda
D) Baking soda

Bleaching powder is represented as
A) CaClO
B) CaOCI
C) CaOCl,

D) Ca,0Cl,

Page No. 26

acid is present in Tomato.

97.

98.

98.

100.

Y5 & FTaE F
g AR I At AT § |

A) H,SO,

B) HCI

C) HNO,

D) HSO,

T A

A) strEarfer
B) ffgs

C) zif=

D) AYFIEH

LEERIC R

LUESLE S INEEE S 1001 T S
&ed o

A) @1

B) #=fiwn #13qy

C) g a1

D) s dis

ST et
T B

A) CaClO

B) CaOCI

C) CaOCl,
D) Ca,OC|,

=1 vfaffte
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101.

102.

103.

104,

105.

PHYSICS

The ratio of sine of angle of incidence
to the sine of angle of refraction is a
constant for given pair of media. This
law is known as

A) Maulas law
B) Snell's law

C) Stefan's law
D) Pascal's law

Which among the following has a
larger refractive index ?

A) lce

B) Carbon
C) Diamond
D) Ruby

The effective diameter of the circular
outline of a spherical lens is called

A) Aperture

B) Optic center
C) Pole

D) Principal focus

The focal length of a plane mirror is
A) Zero

B) One

C) Infinity

D) Two

S| unit of power of a lens is
A) Metre

B) Dioptre

C) Centimeter

D) Steradian
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101.

102.

103.

104,

105.

sitfores R

e T mem g % R swad v S
ST Y 1Y IV & ST H1 HIT FRR

8 | 39 Rgia =) e e 8
A) Hera w1 T /faeia
B) V& 1 frgia /fam
C) wiwa = fFram /g
D) ur=het 1 firgia /fam

fr=fafaa # @ e sradais ga@
T

A) =% /fm

B) e

C) &

D) wifrs

T TIIGTTEhR o9 <hl SOTehi ®O@ & Svret
=79 T FHgl Al

A) fisg

B) gfe &z

C) &

D) wum %zafeg

THae g4 ) e SaT g &

A) I
B) &
C) e
D) &

o8 I OfF i @8, e R
A) e

B) fEaicx

C) Efedizx

D) Rufemw
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106. Sl unit of potential difference is
A) Ampere
B) Volt
C) Coulomb

D) Joule

107. 1 ohm is equal to

A) lampere
1volt

B) 1 volt x 1 ampere

C) 1 volt
1ampere

D) 1 volt x (1 ampere)?

108. Ifthe length of the metallic wireis doubled

then the resistance of the wire
A) reduces by half

B) doubles

C) reduces by %

D) quadruples

109. S unit of resistivity is

A) Qm
C) Q

B) Q'm™
D) Qm™

110. When the resistors are connected in

series then

A) Current through each resistor is
same as the total current in the
circuit

B) Voitage across each resistor is same
as the total voltage in the circuit

C) The sum of the current passing
through each resistor is same as the
total current in the circuit

D) The effective resistance is less
than the smallest of the individual
resistance

.

107.

108.

109.

110.

1
D) 1 9 x (1 THER)?

wﬁm%mﬂéﬁa‘@hmamﬁ
AR 1 iy

A) 38 Y FH TR

B) g1 811 8

C) e =heré & w1 Bl &

D) < B 2

yRrieEal 6 T, 7. T
A) Qm B) Q' m
C) Q D) Qm-

v wRdwE = g@en § S @ R,

L

A) el it <hi fergge ey ot & farg
U & T B R

B) TEIF R ¥ TeRAaTe Siees Iy
¥ T Ao & GHH Bl &

C) Y% TRRIES § TEear fagmara
:;ﬂu‘gqftw%gmﬁgam%w

D) Tad B2 daffes yfrde & e whRE
F R R
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11

112,

113.

114,

According to Fleming's left hand rule,

the fore finger Is pointed towards the
direction of

A) Electric current

B) Magnetic fleld

C) Force exerted

D) Motion of the conductor

The device that detects the presence
of a current in a circuit is

A) Voltmeter

B) Galvanometer
C) Resistor

D) Diode

The basic phenomenon of working of
an electric generator is

A) Electromagnetic induction
B) Hall effect

C) Ferroelectric effect

D) Photoelectric effect

A rectangular coll of copper wire is
rotated in a magnetic field. The direction
of the induced current changes once in
each

A) 2 revolutions

B) 1 revolution

C) half revoiution
D) }é'h revolution
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111, w&afim & a1q w1 & fFaw & srgan, oo
&t fem el & |

A) faga wars

B) §ahia &3

C) Ieufeid s

D) dames i) e

112, 98 3Iuswr s Torelt witwy o foega Y
JUfRATe =1 Ia1 =M T B

A) Tl

B) feamtet
C) witriu=
D) NI

113. Toregga it &+l & wga gRaed
Y21

A) FRiTIReE SeTH
B) B Y9 E

C) Wigeifoes IvE
D) wRAfRE e

114, /@ F IR 1 (F AAHR HIA T

Yaehra & ¥ g s 8 | e frga wo
ffmwes__ dofaffaedt

A) 2 quiq
B) 1 quiA
C) Jp T
D) Y4 o

T — i —— .

A m—



-

115.

116.

ik i I ¢

118.

Magnetic field lines are shown closer
together where the magnetic field is

A) Stronger
B) Weak
C) Constant

D) None of the above

Image formed by a plane mirror is
always

A) Virtual and erect

B) Real and inverted
C) Virtual and inverted
D) Real and erect

The imaginary line passing through
the center of curvature and pole of a
spherical mirror is

A) Principal focus
B) Principal axis
C) Focal length
D) Parallel ray

A ray paraliel to the principal axis after

reflection from a concave mirror will
pass through

A) Principal focus
B) Principal axis
C) Radius of curvature

D) Center of curvature
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116.

117.

118.

115, grrhia & t@edl 1 O we feem s

& et b & 3
A) HE
B) 3o«

C) TAW
D) v & ¥ = el

o wae n g e ofy e T
o}

A) T ofR @2

B) aRaiae AN I
C) e 3 IF
D) arfas® I Gl

T iR 24 ) G 3 ol g9 @
Bt AT e T R

A) TuH F5-Torg

B) wum g

C) Wil SaTg

D) TR fhor

e iu | TR ¥ W18 @ A F
TR O R A S e §
A) T HE-Tog

B) Wum g

C) e

D) wshdl i $&

1 PECE




-

119. The size of the image formed by

120.

121.

122,

a convex mirror when an object is
placed at infinity is

A) Point sized
B) Enlarged
C) Large

D) Same size

The type of mirror used by dentists
to see larger images of the teeth of
patients is

A) Concave
B) Convex
C) Plane

D) Plano-convex

The twinkling of star is due to

A) Atmospheric refraction
B) Atmospheric diffraction
C) Atmospheric dispersion

D) Scattering of light by the particles in
the atmosphere

The scattering of light by the colloidal
particles is '

A) Thermal effect

B) Balwin effect

C) Raman effect

D) Tyndall effect
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119,

120.

121.

122.

@ U 957 I SHaar 3 T@r A 2, @
I g9 g fAffa ofd &1 srer B @
A) fog =1 TR

B) g1 g3l
C) =
D) ®9™ HIY

Za Farfereas g A & 3l )+ sl
%! 3@ % foe I for s adur a0
THR B

A) FarEt

B) 3I=det

C) awaw

D) uweeae

R i feafenmea =1 Fwror 3

A) TYHEET AET

B) argWeci e

C) argwesi widuiq

D) ampreeta wvil 3 gr s &1 farefefn

HIATESS HUIT GRI Nohre 1 {3l &
A) e I E
B) seE= IVE
C) T =
D) dea yvE
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123. The blue colour of the sky and the 123, T &1 e T 3R gETed R g
redding of sun at sunrise and sunset ¥ o T % el U1 1 HIl T 8
is caused due to A) ST F bt
A) Scatter!ng of light B) :

B) Reflection e
C) Thermal effect D) b ian
D) Atmospheric diffraction D) SgHee f&ada
124. One ampere current is 124, TR Wi faega a2
A) 11cuulomb A) 1 gera
second 10%s
B) 1 coulomb x 1 second B) 1 TwE x 1 §hs
C) 2 coulomb C) 2 i
1second® 195%e2
D) 1 coulomb x 1 second? D) 1o x 1 Hehs?

125. Potential difference between two 125, 2 firgatl 3 sfra 3 fervvariae & s @
points is equal to
A) Work done TR

Charge
L B) Charge x Work done B) R x e Trn el
Charge TR
C = C)
} Work done forem e
D) (Charge)® D) (37R)
| Work done -ﬁw“ T Wf

126. Conductors of electric heating devices | 126. ¥8 & 3R foga ¥ 3 forgga Tl %

such as bread toasters and electric I ¥ GATEH G UGt - sy
irons are made by alloy rather than pure T 1 FY < 3 ifE
metals because

: A) firsr gt H whuswa w9 B 8
A) Alloys have low resistivity .
B) Alloys have high resistivity B) fr erigadt 3 withreren e B 2
C) Itis not dependent on resistivity C) % witdwal | Fft 78 ol #
D) None of the above D) IwF | | i T

: Crage o2
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127. A current through a horizontal power

128.

129,

line flows in East to West direction. The
direction of magnetic field at a point
directly below the power line is

‘A) North to South

B) South to North
C) West to East
D) East to West

The magnetic field due to current
carrying circular coil having n turns is

A) n? times as large as that produced
by a single turn

B) ntimes as large as that produced by
a single turn

C) % times as large as that produced
by a single turn

D) will be same as that produced by a
single turn

The strong magnetic field produced
inside a solenoid can be used to magnetise
a piece of magnetic material like soft
iron when placed inside the coil. The
magnet so formed is called as

A) Electromagnet
B) Diamagnet
C) Paramagnet

D) Permanent magnet
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127.

128.

129.

T ifot forga viee TR S arem | o R
7d | uftem feen & wyenfea Bt @ | R
NI AR & €l D & fig w0 Fohi &
&1 T ot &

A) IW & BfEr

B) =fur & aw

C) fRm A g

D) 4d & ufem

n gEaTe [ Y 987 Fea

TSR el & HI Yaehid & Bl 8

A) n2 % &9 § 91 "ET ¥ Ghel SR g
Jeanied

B) n ¥R % &9 ¥ &} U § The 9] gR
Ieanfed

C) %aﬂ%mﬁaﬁmﬁwmm
Ieied

D) TFe 91 R Ienfed & gH

qRATeTsht & 3Rt SwTfed WeiRd Gaehid
& 1 ST FTA $ AW W T FEHH
qrf S8 T R ¥ gHe B gafha F
% foru fran < when & | S 9 SwaT R,
I8 FE R

A) forga g5+
B) wftrgers
C) Tda+
D) wurft gae
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130.

131.

132,

133.

The magnetic field inside a long straight
solenold carrying current

A) is zero

B) decreases as we move towards its
end

C) increases as we move towards Its
end

D) Is the same at all points

The safety device used for protecting
the circuits from short circuiting is

A) Resistor
B) Fuse

C) Motor

D) Generator

The direction of the electric current is

taken

A) Same as the direction of flow of
electrons

B) Opposite to the direction of flow of
electrons

C) Perpendicular to the direction of flow
of electrons

D) There is no direction for the current
due to flow of electrons

A piece of wire of resistance R is cut into
five equal parts. These parts are then
connected in parallel. If the equivalent
resistance of this combination is R’,

the ratio % is

A Yos

C) 5

B))é

D) 25
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130,

131.

132.

133.

foga a0 987 RIS & |9 @
uiefeTR % e e &
A) Y g &

B) SIQ-3% 9 ¥ia it it 7qa §, wed
T ¢

C) A en A Ty, TwawA L
D) &t férgadt vt wmm e &

oY aiRaw (9 wihe) & aftww it g
o Torg S fen SeraTen e
TR B

A) wfeius

B) W
C) #ixX
D) S

forega o <t fom it el @

A) Fetagl h wETe i e & e
B) goiagiA! i s i R F fda
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134. Which of the following is not an example
of conventional energy source ?
A) Wood
B) Gobar gas
C) Nuclear energy

D) Coal

135. Which among the foliowing is a
non-conventional source of energy ?
A) Fossll fuel
B) Solar energy
C) Hydro power plant
D) Wind energy

136. Retina of the eyeis a
A) Light sensitive screen
B) Lens
C) Object
D) Aperture

137. The human eye can focus objects at

different distances by adjusting the
focal length of the eye lens. This is
called

A) Presbyopia
B) Accommodation
C) Near sightedness

D) Far sightedness

138. The change in focal length of an eye
lens is caused by the action of the

A) Pupil

B) Retina

C) Cilliary muscles
D) Iris
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134, Fr=ffas § A Fren qRafes S wraa
TR
A) TEHE
B) T fw
C) Ty Sl
D) #ren

135, frafofea § @ sm o=l W @@ R
TRARF A & 7
A) Sfawem 3uA
B) dR =t

C) Seiferga w4
D) a1 =i

136. aiha & Afdge (FA9ee) &
A) TSl T HAEA U
B) &
C) I
D) fox

137. it@ &F 0 ) Brea waTd i qEaiee
& e g it awgelt w A AlE
FHia w Tt § 1 30 FEd &

A) U QR AN
B) gfaw

C) fe g 3
D) 3R 3N

138. 3it@ =g il Biehe TS 1 TRadH e
N F T EE e ?
A) geredt
B) &
C) fuferatt niedfarat
D) %™
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139.

140.

141,

142.

The power of accommodation of the
eye usually decreases with ageing. This
condition is called as

A) Myopia

B) Presbyopila
C) Hypermetropia
D) Astigmatism

Among the following colours which
bends the most when white light
undergoes dispersion is

A) Indigo

B) Red

C) Orange

D) Yellow

Equivalent resistance (R,)) of the parallel
combination when two resistors R, and
R, are connected in parallel is equal to

_R 4R
W

AR
B L

)R =F1-R
* R,+R,

RR
ey dctid S0
9 I:{"*"H,+F{2

According to Joule's law of heating, the
heat generated due to electric current
is given by

A) H=I?Rt
B) H=IRt
C) H=IR%
D) H=IR?
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139.

140.

141,

142,

34 wed % Ty it F gh f wiF =
BN R | R Fm e g

A) fre 3R 3y

B) S 3 Ay

C) €d 3R <

D) gfe Jwm=r

W THE W 1 YR g &, a@ fie
R BT R e g f 7

A) &

B) &l

C) raft

D) dien

& 2 wfedy R, 3 R, 1w e
STt ®, W Wi WA 1 aHged
il (R) 8
R,+R,

H‘IHE

H1H2
H‘l-HE

A) Flp=

B)R =

C)R =El_'fi
* R, +R,

RR
= et
2 R, +R,

St % I % g & argam g umo %
Ror fAfifa 3 FTUATARE )

A) H = IRt
B) H=IRt

C) H = IR
D) H=1R?
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143.

144.

145.

146.

1 watt of power is equal to
A) iIW=1V x 1A
1A

B) W=7

o) w=¥
7

2

1\")
D) 1 W= A

The commercial unit of electrical
energy is
A) Kilowatt hour

B) Kilowatt

hour
C) Kilowatt/hour?

D) Kilowatt (hour)?

The resistance of a wire is

A) directly proportional to its area of
cross section

B) inversely proportional to its area of
cross section

C) independent of its area of cross
section

D) proportional to square of its area of
cross section

The magnetic field of a solenoid carrying
a current is similar to that of a

A) Bar magnet
B) Resistor
C) Electric motor

D) lron core

143, 1 91 g it o wrore &
A) 1W =1V x 1A
1A
B) 1W= -
1\')
C) 1WW=—
) 1A

o T
) WW="32

144, e Sl A saTEETRS T

A) frehare gvar

fretae
U

C) Forcirare /aver
D) Tt (|wer)?

B)

145, R 6 gferashan

A) I ITIY FIE F FIGA § FEIIT

ol @

B) I TSR HIE F &l A STGHHTIIT

TR

C) 5% ITIIY FE F &R A A gl

2

D) 3% AW FIE F &G & T &

e Breft &

146, Qe @ IMaT™ VIORE F I &9

FEAH AT |
A) T i T

B) wfeiush

C) fersreft =1 WX

D) w8 =1

Page No. 37

1 PECE



147.

The AC supply to the houses is of
220V, 50 Hz. One of the wires in this
supply is with red insulation called as

A) Live wire

B) Neutral wire

C) Earth wire

D) None of the above

148. The phenomenon of Electro-magnetic

149,

150.

induction Is
A) Process of charging a body

B) Process of generating magnetic
field due to a current passing
through a coill

C) Inducing electric current in a coll
due to relative motion between a
magnet and the coil

D) The process of rotating a coil of an
electric motor

At the time of short circuit, the current
in the circuit

A) Reduces substantially

B) Does not change

C) Increases heavily

D) Vary continuously

The device used for producing electric
current is called as
A) Generator

B) Galvanometer

C) Ammeter
D) Motor

D §

147.

148.

149.

150.

Tl # AC it mgff 220 V, 50 Hz H: B |
AT o AT 3 Y T e e & 9
2, o w1 e &

A) foga am

B) Y AR

C) a9 I

D) Ivde & g et

TRrera ~gwehirg SRor < weT 8
A) T TEY T TR T i S

B) T Hee & B f¥ga T & &R
Yo &7 I A W

C) TF g% 3R F37 & =i TN Ta &
HR Faeh § W fga o 30w w@

D) firee wie 35 et it o o s

oy Ry (TTé afhe) & wog, iy §
fersredt an fargar

A) YR FH 34T &

B) & wawran

C) 3reafte wgal &

D) TR s5ral &

T wam® & SeeA % fore swam fg
TET STHT I FHET A 8

A) SR

B) eIt

C) wHiX

D) WX
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